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B2 AZZ |BA=E K AZZ |BAZ 3 AZZ |BAZ
= 7} & 2 & | 793 06| 84| 798| 789| 71| 79| 70| 779| 782
¢ 5 u & | 27| 194 186 202 211 21.9| 202| 220| 221| 218
A q W | 169] 174| 161| 186| 173| 164| 184| 157| 147| 170
wed (77 4 W | 22| 13| 16| 11| 22| 30| 13| 35| 37| 33
] 1 16| 07| 09| 05| 16| 25| 05| 28| 37| 15
23 g A4 | 133 135] 137| 134| 136| 140| 132| 125| 128 122
oA | = o o A | 45| 44| 36| 52| 46| 41| 52| 43| 39| 48
| 29| 15| 13| 16| 29| 38| 18| 52| 54| 48
A4 | 09R [30536 (30,536 (30536 30,049 30,233 129833 33,020 32,633 133533
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ZAH 0. 12 (9] 94/20kg A HH, %)
- 2 5 9 H & A &= Z 7]
T I 30,536.0 814
B2 g 4 v 240 01| o E9 90009 +700kg+153] x28kg=244
- AFR31 0 (1d 33 AR )x5d=153]
- bESe  T14%(%728kg — AT)
A A % ] 700.0 19| o458 0%—-15 A%, 1%% 59/ke
- 5%x591=259 /kg, 259 x28kg=700%)
4 % ¥ ] 240.0 0.6 | (60,0009+7,000kg)x28kg=240%)
# o 7 A 31,5000 840 | (45,000+40kg) x28kg=31 500 (%)
£ 0% A A 500.0 13 | A9 5009/20kg
-
q | 7 z ] 3,000.0 80 | (12,0009 +80kg) x20kg=3,0004
g | ¢ % ] 670.0 18 | 26800091400 t (20kg)=6702/20kg
A
' # w7 A 35,670.0 9.1 | 35,6709/ 20kg(Hm))
3} o H] 300.0 08 | (1.2009+80kg)*x20kg=300/20kg (32411
e
% % ] 600.0 16 | 6009)/20kg
u 7t s H] 390.9 11 | AZFA AN, AT, dy 5
o] & 39.1 0.1
A}
¥ W s 7 37,0000 9877 | 37,0009/ 20kg(w))
S 7t s H] 205.0 05 | AEFA TN, AAZTIE, AAn] T
W | ol X 295.0 08
O I R S 375000 | 1000 | 37.5009/20kg(# 1))
o A3u] WEWY
— AAH)(EW) : (09) 21.39/27kg = (10) 24.0
- AR () ¢ (09) 4008/20kg = (10) 500
- $E(EATE - FF=rAA) 0 (09) 6009/20kg = (10) 670
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s = 9 |H & s 2 7

A 7 4 30,536.0 |  79.8
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Al 240  0.1| o= 90009 +700kg*153] x28kg=24%
- AHE3lE 1 (1 33]AHE )G =153]
- 7beaE L T14% A&

H] 700.0 1.8 | oFwshd 20%—15 112, 1%% 5U/kg
- 5%x5¢=259/kg, 25¢x28kg=T00¢
H] 240.0 0.6 | (60,0004 +7,000kg)*28kg=240¢

s

7t A 31,500.0 | 82.3 | (45,000+40kg)*28kg=31,500¢ (%)

bl

Mo

& 3,000.0 7.9 | (12,000 +80kg) x20kg=3,000¢
A M 500.0 1.4 | 500 (20kg ] tH )

H] 650.0 1.6 | 260,000 +40032 =650 /20kg

s}

7 A 35650.0 | 93.2 | 35,6509 ,/20kg (M ])

3} o= H] 300.0 0.8 | 3001/20kg (“d-3F=}H])

i & H] 600.0 1.6 | 6009/20kg (A &AW &F)

T T = 1,070.0 2.8 | Wi g7kl 3%(35,650¢ x3%=1,070)

7 7 A 37,620.0 | 984 | 37,6209 /20kg (W 1] )

s H] 430.0 L1 | HELQRAH, A8, AAEHT &
Rin 210.0 0.5

Tl iU hU Sk e rhe IR o ot o ngk off| o3l T ok of Ik H ngk off

7 A 38,260.0 | 100.0 | 38,260 /20kg (¥ 1] )

: (09) 21.39/27kg = ('10) 24.0
g — A 1 (09) 6009/20kg = ('10) 650
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= B 5 49 H & A& 2 7
D L I 30,2333 781
I I S B 2.7 0.1] o & 10,0009 +700kg+153] x28kg=26.7¢
- AFE3F (19 334 x5 d=153]
- 7}E5E  T14%(F328kg — A320)
A A S H] 700.0 18 | o F B 20%—15 A%, 1% 59/ke
- 5%x59=259/kg, 259 x28kg=700¢
2 & & H] 240.0 06 | (60,00091+7,000kg)*28kg=240¢
3 o s A 31,200.0 80.6 | 31,2009 (%)
z & A H] 4100 1.1 | A 4109/20kg
-
Q| 7 z H] 3500.0 9.0 | (14,000%1+80kg)*20kg=3500¢
d | ¢ & H] 550.0 1.4 | 220,0009 4003 o (20kg)=550 /20kg
A
¥ # 9 s A 35,660.0 92.1 | 35,66091/20kg (™))
Gi8 o H| 300.0 0.8 | (1,200 +80kg) x20kg=300%/20kg (%} &} 1] )
s
& & H] 600.0 1.6 | 6009/20kg
o |7 A H] 492.8 L3 | AZgA BN, AT, Adn 5
o] R 1472 04
/})L
A ! 37,000.0 96.2 | 37,0009/20kg (A1)
x| % A H] 660.0 17 | AEfA BN, AT, AN 5
] o] iy 840.0 2.1
Al W s A 38,700.0 100.0 | 38,700 /20kg (M w])
o A4 HEUY
- EAAE(ED) : (09) 21.39/27keg = (10) 26.7

(09) 5259¥/20kg = ('10) 550
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- 5%x59=25%/kg, 259x28kg=700¢

(60,000¢ +7,000kg) x28kg =240

s

=)

(44,000+40kg) x28kg=30,800¢1 (%

B

Mo

(12,0001 +80kg) *20kg=3,000¢
4109 (20kg A )

220,000 4003 =550 /20kg

s

34,7601 /20kg (W =)
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ofy
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n
4

30091/20kg (“d-3F2HH])
60091/20kg (A& AW #3]-&F)
n Y 7Fe] 3%6(34,760 91 x3%=1,042.8¢)

i

36,702.81 /20kg (W =)
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=

kel
Mo

A1), AAH], AAMZ I

ol iy ol | iz Lk o oft Jo xh off' | o T X x ofN IR =, ot o

= 94 |H &
29,833.3 | 79.8
26.7 0.1
700.0 1.9
240.0 0.6
30,800.0 | 824
3,000.0 8.0
410.0 1.1
550.0 1.5
34,760.0 | 93.0
300.0 0.8
600.0 16
1,042.8 2.8
36,7028 | 982
482.2 1.3
175.0 0.5
37,360.0 | 100.0

37,3601 /20kg (W 1))
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<& 5>
[e) 37 o) ki
B8 BAEEY - AL AT FTEAA)
ZAHY 10, 12€ (4] - 9/20kg Ao, %)
T 5 5 4 H & A E= Z 7]
T I 32,633.3 779
I I R I %67 0.1 | o E9 10,0009 +700kg+153] x28kg=26.7)
S AHEEF ¢ (19 3541835 =153]
- VERE  T14%(Z28kg — ATN)
A % ] 700.0 17| o83k 20%—15 A%, 1%% 59/kg
- 596x59=259/kg, 259 x28kg=T00%]
4 $ % H] 240.0 06 | (60,0009 +7,000kg)*28kg=240%1
d o 7 A 33,6000 80.3 | (48,000+40kg)*28kg=33,6009) (%)
z & A H] 600.0 14 | A 6009/20kg
—
q | 7 3 ] 3.250.0 78 | (13,0009 +80kg)x20kg=3.250)
d | ¢ % u] 500.0 12 | 2000009400 t (20kg)=5002/20kg
A
t S N 37.950.0 90.7 | 37,9509/ 20kg(m))
3 o ] 3000 0.7 | (1,200+80kg)*x20kg=30091/20kg (-3 2H4])
s
X % ] 600.0 12 | 60091/20kg
Wo| oz g ] 612.0 15| AZeA B, AATHE, oA 5
o] & 208.0 05
A}
3 o s 7 39,6700 946 | 39,6709/ 20kg(Hm))
x| 3 Zs! H] 9225 2.2 | AEFA A, AATIE, A9 T
| ol & 13275 32
Al oW g A 41,9200 | 1000 | 41.9209)/20kg (3 =)
o A WEU
- EAAE(EW) : (09) 21.39/27kg = (10) 267

— FEA

)+ (09) 425¢1/20kg = ('10) 600
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o , ]
TeH € BAE(HY — FF stUHEZH)
=4 0. 129 (9] : 21/20kg A4, %)
T = 5 9 |H° & A & =2 7
s 7+ FH 7 4 335333 | 782
Al
O R 26.7| 0.1 | o= 100009+ 700kg+153]x28kg=26.7%)
- ARSI L (1d 33| AR )x5d)=153]
- PSR T14% A
A £ &l 7000 | 16| oFEFH 20%—15 AF, 1% 59/kg
- 5%x591=259 /kg, 259 x28kg=700
Nk % Bl 2400 | 05| (60,0009 +7,000kg)x28kg=240%
s oW b A | 345000 | 80.4 | 3450092
O 32500 | 7.6 (13,0009 +80kg)*20kg=3,250<]
H
m]
= | % % A 550.0 | 1.3 |550€1(20kg A o)
<
% & % ] 500.0 | 1.1 |200,000€1+400%=500<)/20kg
A
2 s W b A | 388000 90.4|3880091/20kg(# )
L g 300.0 | 0.7 | 30091/20kg(k 2bul)
H
Tle & &l 600.0 | 1.4 |6009/20kg(H &AW A &%)
o
¢+ = 2 1,164.0 | 27 | vii7he] 3%(38,800%1x3%=1,164])
Tlw oW g A | 408600 952 40,8609)/20kg( )
=
3 | z ke ] 14211 | 33| HEZedaxu, Adn, AT
i
2 | ° Rin 618.9 1.5
2
a9 @ W A | 429000 100.0 | 42,9001 /20kg (1))
o A WU
- TR ED) 1 (09) 2139/27kg = (10) 267
- SEN(EATE - FFEA) : (09) 4259/20kg = (10) 500



